This Question Paper consists of 34 questions and 11 printed pages.
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General Instructions :

Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and the total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also
check to see that the questions are in sequential order.

For the objcctive type of qucstions. you have to choosc any ene of the four alternatives given in
the question i.c. (A), (B). (C) or (D) and indicate your correct answer in the Answer-Book given
to you.

All the questions including objective type questions are to be answered within the allotted time and
no separate time limit is fixed for answering objective type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere other than
the specified places will lead to disqualification of the candidate.

Write your Question Paper code No. 54/AS/4- A | on the Answer-Book.

(a) The Question Paper is in English/Hindi medium only. However, if you wish, you can answer
in any one of the languages listed below :
English. Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam. Kannada, Telugu, Marathi, Onva,
Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If vou choose to writc the answer i the language other than Hindi and English, thc
responsibility for any errors/mistakes in understanding the question will be yours only.

S4/AS/4—214_A] 1 (AT | Contd...



[H R

1

2

TAAE G9TIS F EA YNS UT A1 SHEE Ay g |

P UG B WA A 6 YT F FA g q@n ueA A sah € wen ¥ R vaw g
%G9 FU BW ¥ | 39 a1 @ g O BT & 6 99T whm w7 § ¥

aig%rsausﬁﬁfmartﬁmr«q“f(A)‘(B),(C)am(D)fféaﬂéwwgﬂm%amﬁ
TE IA-giasT ¥ o wd sux fataw |

IS Ue & qra—gre it goat ¥ wOv fraifa sty % e & 3y ¥ | FEghTSs gt
% o s q gwg =@ R smom

TR-gRaH § wEar-fag S swar fifde Wl % st F6 F smEs fmey ™
el # s sEEr SR |

YT IR -GRABT T AT B b wEm S/AS/MA-[A] |

(%) weTTus shae /st § & | bt o, aft sy w® @ e & v R ue o § we
T 9%d §

Fiel, afTgdr, srafrn, o, Befd, @A ot fRid

FoA1 IO-gRast ¥ fu T grew § fod 6 osng few ww ¥ wox v @ ¥

(@) afx s & vd siEsh % afifea fedr org o § sav frad O wed & 9o
o B ol Jieat | et B el daw emua e |
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Time : 3 Hours] [Maximum Marks : 100
T o 3 "ue] [gori@ : 100
Note : (1) Al questions are compulsory.
(2) Marks allotted to each question are indicated against it.
(3) Each question from Q. Nos. 1 to 8 has four alternatives (A), (B), (C) and
(D) and out of which one is the most appropriate. Select the correct answer
and write it in your answer-book against the number of question.
et : (1) ah uyE afEd
2) UA® U ¥ 3% 9B wEH IR T ¥
(3)aﬁﬁqgﬁmlﬁSﬂ'cB,HﬁaigﬂﬁW%ﬁﬂﬁﬁT(A),(B).
(C) 3t (D) fd T ¥ fd ¥ us wd @1 waitus Sfaa ¥ 1 @@ SO g
qar oo SOX-gRamr ¥ SH Wed ®muie & amd feied )
1 Which one of the following is a positive statement ? 1

(A) Government should increase the wage of labourers.

(B) India has a large number of unemployed youth.

(C) Government should provide houses to poor people at low prices.

(D) Government should provide free education to all.

frafafiaa § ¥ SW-91 U6 IRdfas 99 & 7

(A) @R & g H Agd gerl 9y |

(B) WRE ¥ AU gami & d@ Afus & |

(C) | & TS @ B9 HEd 9 9HF A B qeY |
(D) @R # & & thyges e o O ey |
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2 Which one of the following is a non-economic factor of economic development ? 1

(A) Natural resources (B) Racial factors
(C) Capital formation (D) Technology
frfafaa & @ onfis fswe &1 a1 onffe s & 7
(A) vigfas daram (B) dagTd HRE
(C) dsir fmior (D) vty
3 The problem of ‘what goods and services shall be produced’ is related to 1

(A) Which goods and services are to be produced.
(B) The method by which goods and services are to be produced.
(C) Distribution of income and wealth in the society.

(D) Who is to enjoy and get the benefit of the goods and services produced.
ot amgai oM Farel @ SwEe fewr WU wmen e ¥ o

(A) f&7 =gsft ok Janeil &1 Sare fear wmo |

(B) =e fafy foa® aro awgenl o daisl &1 IarT fear W

(C) @™ § o o gufa % faawor &

(D) Saifed axgail oK Yael &1 TUHNT Y HET T a9 B T B ™ UG

HOT |
4 A production unit owned by a single individual is known as : 1
(A) A partnership (B) A private company
(C) Sole proprietorship (D) A public distribution unit
U% AR & WG 9l IAET IHE HEar §
(A) dr=rETa (B) Fsit &
(C) umd w@ifa (D) wEwfE faror gerE
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5 Marginal revenue is : 1

(A) The amount a seller receives by selling certain quantity of a commodity.
(B) Revenue per unit of the commodity sold.

(C) Increase in total revenue due to one unit increase in the sale of the quantity

of output.

(D) The total amount of money received by the seller during a given time period.
A ST BT ?

(A) uH fapar g o B us Ffad wen % fawa ¥ wra i

(B) a9 % fawa @ wii g5 oM™ |

(C) TaEA # 9l b fama § UF IHEE B ghg B W FA O H
g9 el gfie |

(D) & T uwa sty ¥ faear @0 oura Fw@ A@fEe ain o

6 Demand for a commodity refers to : 1

(A) Quantity of the commodity that a buyer is willing to buy at a given price

per unit of time.

(B) Quantity of the commodity purchased per unit of time.

(C) Quantity of the commodity that a buyer is willing to buy.

(D) Quantity of the commodity purchased at a given price.

el agg @ W A evuE ¥

(A) a@ﬁ%mﬁ@ﬁﬁmmuﬁmwﬁmmm
% fow @t ® )

(B) @G @ 9 WEN S 9fq IHE w9 W @UEl S ¥

(C) o ® € WEN S kAl BT B $ @C A ¥ |

(D) I # 9% WE0 W A T FEd W Gl IR ¥
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7 Data means : 1
(A) Quantitative and qualitative information.
(B) Quantitative and qualitative information providing facts in aggregate manner.
(C) Qualitative information providing facts in aggregate manner.
(D) Quantitative information providing facts in aggregate manner.
siwsl ¥ afumg ¥ -
(A) d&EE U1 UTEHEG GO |
(B) dw=l B whffed €Y ¥ Iued FUA AN G@ATEEH qdl ONEE GO |
(C) T # Grjfes €9 § A B AN [ONEH G

(D) d=l # wHfEs ®9 H I@T BN AN GEAH GIT |

8 One of the major sources of water pollution is 1
(A) Exhaust of vehicles and automobiles
(B) Discharge from sewage treatment plants
(C) Vehicular traffic
(D) Construction work on roads
S YUY % YT dal W UH o
(A) aEAl agr "t mEal ¥ e g
(B) wesuar asi § e
(C) X TEr A
(D) wg®l 9T FEr &
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‘Some wants arise again and again’. Justify this statement. 2

PB AETHAT A X FJHD AN F I T FAT &1 oNfg AR

What is meant by ‘entrepreneurship’ as a factor of production ? 2

IUET % G % €Y ¥ TEH ¥ . oAby ® 7

Define fixed cost of production. 2

IaET @ gy @ra & gfemar i

The total cost of producing 15 units of a commodity is ¥ 195. Calculate 2

the average cost of production.

el avg @ 15 3HE TART B B FA aFd X 195 ¥ | IARA @) SrEd @n
%] AT BT |

How will the equilibrium price of a commodity be affected when its supply 2

decreases but demand remains the same ?

fopdt axg # FgET BT B GAIAd N 9 IES ayfd F HH & W ¥ uwg
a1 smafafda wdr ¥ 7

How does public distribution system help the poor people ? 2

greet faaxer yore e e e W @ SR s ¥ 7
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15 “Saving can act as a kind of security for future’. Explain with the help of 2

an example.

‘qaq, wiae % f7u, Us gl &1 B &7 ghdl ¢ [ % IETEO H gerddar 9
ey |

16 Define ‘central tendency’. 2

Fdm ygta @ e df

17 State any two main sources of air pollution. 2

ag wgwul & T A gEr Al & Ieod i |

18 Suggest any two ways by which we can contribute to sustainable development. 2

Ty @ s gEEd e g w oarehg faem § arEm % oeswd @

19 What are producer services ? Explain with the help of a suitable example. 4

TOEE YA AT B E 7 UH SUgE SaRdUl B wEEdl § wheed |

20 Distinguish between a developed economy and a developing economy. 4

fafaa ardegaeen waq fawmdie sefemaen § 97 #Q
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Distinguish between product based division of labour and process based

division of labour with appropriate examples.

e AU 99 foase o ufear smenfa g9 fawee § Suge Sewen afem
4% BT |

State any four main features of perfectly competitive market.

ol wfart At @ Rl ar ggw faswaet @& swa #ifeg |

Explain any two functions of money.

a1 % fesl A w@El B gHEEd |

How does a bank create credit ? Explain with the help of a numerical example.

% 9@ & Y5 HY BT T 7 UH GOAEH IR B Geddl ¥ GuEEd |

Give meaning of an ‘individual series’ and a ‘discrete series’. Give one

example of each.

‘AT g qur ‘e gaar &1 ad gaEd | yde @ Uh 33 AT |

Explain in any two ways the importance of data in economics.

FIME H Bel & Hee™ B (el d UHRK ¥ TGAHAEY |



27 Following table relates to weight of 100 students in a school. Calculate 4
arithmetic mean using short cut method.
Weight (kgs.) : 20-30 30-40 40-50 50-60 60-70 70-80
No. of students : 7 10 35 30 8 10
ffofiga afwer e fqemem & 100 foenfaal & aw @ wafaa @ | @y fafy
H1 WAN B GHFIT "R PP OTAET HIAT |
g (fpar) 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70-80
faentéal &1 e 7 10 35 30 8 10

28 Explain any two steps taken by the government to achieve higher economic 4
growth.
vor ofde W WA ST % U W F SeW MU fERl A deH b N
¥ oheEy |

29 Compare in any four ways the Indian economy with that of China. 4
sl ar UBR § WA sdemeren & O &0 srdegawn § e &g |

30 Explain any two rights of consumers. 4
IuFFat % Bl A FUBER B AR BT |
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How is supply of a commodity affected by :
(i)  Decrease in price of other related goods.

(i) Improvement in technology of production.

et axg B amft e & @ ¥ wwlm ol ¥ ¢
(i) 9 g=iad gslt & sHd § &9 89 U

(i) TIOEA & WA § guw e 1w

Describe any twe notable economic features of the Indian economy at the end

of British rule.

ISl & EHIE % UYEN W SR @ = 39 grg el S snids
fagraret &1 av= #ifsg

Explain in any three ways the role of primary sector in Indian economy.

el 9 e ¥ andm e ¥ wafie dw @y B ogused

Give three major causes of soil degradation.

9 999 & 99 Je sROT SaEd |
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